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1. PROBLEM SOLVING
Problem Solving B iR B E RN T -

Directions: In this section Solve each problem, using any available
space on the page for scratchwork. Then indicate the best of the
answer choices given.

Numbers: All numbers used are real numbers,

Figures; Figures that accompany problem in this section are
intended to provide information useful in solving the
problems, They are drawn as accurately as possible
EXCEPT when it is stated in a specific problem that its
figure is not drawn to scale. All figures lie in 2 plane

unless otherwise indicated.
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On the day of the performance of a certain play, each ticket
that regularly sells for less than $10. 00 is sold for half price plus
$ 0. 50, and each ticket that regularly sells for $10. 00 or more is
sold for half price plus $ 1. 00. On the day of the performance, a
parson purchases a total of y tickets, of which x regularly sell for
$ 9. 00 each and the rest regularly sell for $12. 00 each. What is
the amount paid, in dollars, for the y tickets?

(A)7y — 2x B)12z— Ty )

(D) 7?7y + 4z (E) 7y + 5z
ERALERA)KBE X vy KENREMH

9x + 12y
2



9. 00 12. 00

(T+0.50).’t+ (T+1.OO)(y—x) =5z + T(y— o)

=Ty —2x
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The inside dimensions of a rectangular wooden box are 6 inches
by 8 inches by 10 inches. A cylindrical cannister is to be placed
inside the box so that it stands upright when the closed box rests on
one of its six faces. Of all such cannisters that could be used, what
is the radius, in inches, of the one that has maximum volume?

(A) 3 (B) 4 5 D s (E) 8

ERERAB), XERLA N, WAL RR RS
rivgeEn. Fxb, BEENERAR  V =cvh.Bma
. RE=ZMEE: . =3, h, =10; re=4,h,=6Hr,=3,
hy = 8; A LR EHEAEBAR, KBS Y r=4, k=61, 4k
R
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The trapezoid shown in the figure above represents a cross
section of the rudder of a ship. If the distance from A to Bis 13
feet, what is the area of the cross section of the rudder in square
feet?
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